This report contains the transfers results.

Contest Name

Ward 9 - Lomond North

Valid Votes

Positions to be Filled

Quota

3,198 3 800

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Maurice CORRY	Scottish Conservative and Unionist	843
George FREEMAN	Independent	466
Mark IRVINE	Independent	475
Robert Graham MACINTYRE	Independent	149
Nigel Ford MILLAR	Scottish Liberal Democrats	91
Shonny lain PATERSON	Scottish National Party (SNP)	777
Watson ROBINSON	Scottish Labour Party	397
	Total	3,198

Candidate Maurice CORRY Elected with 843 votes, being in excess of the quota of 800

This report contains the transfers results.

Stage 2 - Surplus of Maurice CORRY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George FREEMAN	240	0.05100	12.24000
Transfer to Mark IRVINE	125	0.05100	6.37500
Transfer to Robert Graham MACINTYRE	49	0.05100	2.49900
Transfer to Nigel Ford MILLAR	86	0.05100	4.38600
Transfer to Watson ROBINSON	150	0.05100	7.65000
No further preference	190	0.05100	9.69000
Not transferred due to rounding			0.00700
	Total		43.00000

This report contains the transfers results.

Stage 3 - Exclusion of Nigel Ford MILLAR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George FREEMAN	10	1.00000	10.00000
Transfer to Mark IRVINE	16	1.00000	16.00000
Transfer to Robert Graham MACINTYRE	10	1.00000	10.00000
Transfer to Shonny Iain PATERSON	9	1.00000	9.00000
Transfer to Watson ROBINSON	36	1.00000	36.00000
Transfer to George FREEMAN	16	0.05100	0.81600
Transfer to Mark IRVINE	10	0.05100	0.51000
Transfer to Robert Graham MACINTYRE	7	0.05100	0.35700
Transfer to Shonny Iain PATERSON	2	0.05100	0.10200
Transfer to Watson ROBINSON	33	0.05100	1.68300
No further preference	10	1.00000	10.00000
No further preference	18	0.05100	0.91800
Not transferred due to rounding			0.00000
	Total		95.38600

This report contains the transfers results.

Stage 4 - Exclusion of Robert Graham MACINTYRE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George FREEMAN	32	1.00000	32.00000
Transfer to Mark IRVINE	52	1.00000	52.00000
Transfer to Shonny Iain PATERSON	27	1.00000	27.00000
Transfer to Watson ROBINSON	19	1.00000	19.00000
Transfer to George FREEMAN	16	0.05100	0.81600
Transfer to Mark IRVINE	19	0.05100	0.96900
Transfer to Shonny Iain PATERSON	2	0.05100	0.10200
Transfer to Watson ROBINSON	4	0.05100	0.20400
No further preference	29	1.00000	29.00000
No further preference	15	0.05100	0.76500
Not transferred due to rounding			0.00000
	Total		161.85600

This report contains the transfers results.

Stage 5 - Surplus of Shonny Iain PATERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George FREEMAN	160	0.01642	2.62720
Transfer to Mark IRVINE	169	0.01642	2.77498
Transfer to Watson ROBINSON	179	0.01642	2.93918
Transfer to George FREEMAN	2	0.00083	0.00166
Transfer to Mark IRVINE	1	0.00083	0.00083
Transfer to Watson ROBINSON	2	0.00083	0.00166
No further preference	305	0.01642	5.00810
No further preference	2	0.00083	0.00166
Not transferred due to rounding			0.00173
	Total		13.35700

This report contains the transfers results.

Stage 6 - Exclusion of Watson ROBINSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George FREEMAN	144	1.00000	144.00000
Transfer to Mark IRVINE	125	1.00000	125.00000
Transfer to George FREEMAN	68	0.05100	3.46800
Transfer to Mark IRVINE	24	0.05100	1.22400
Transfer to George FREEMAN	40	0.01642	0.65680
Transfer to Mark IRVINE	27	0.01642	0.44334
No further preference	183	1.00000	183.00000
No further preference	95	0.05100	4.84500
No further preference	112	0.01642	1.83904
No further preference	2	0.00083	0.00166
Not transferred due to rounding			0.00000
	Total		464.47784

This report contains the transfers results.

Stage 7 - Exclusion of George FREEMAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark IRVINE	330	1.00000	330.00000
Transfer to Mark IRVINE	191	0.05100	9.74100
Transfer to Mark IRVINE	106	0.01642	1.74052
Transfer to Mark IRVINE	1	0.00083	0.00083
No further preference	322	1.00000	322.00000
No further preference	149	0.05100	7.59900
No further preference	94	0.01642	1.54348
No further preference	1	0.00083	0.00083
Not transferred due to rounding			0.00000
	Total		672.62566